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[3] [A]
ART-I (PART -I)
9 9% 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

& : R 797 % o7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

1. f=ifed & § T
fosia fear 2 7

[1] fms 3
2] arrieE 3
[3] %ES S
[4] dgT

2. qfE T SRR R

[1] Ha=THE TS SFael & AR
2] @ dfrarers oae & SR
[3] Td dhaTcT SR & AR
[4] SNo=Res HikaleTs St & QR

|

g § g = R ?

[1] T8 U Tad Ske 2
[2] 98 UHSAEM! &l 8l
[3] 39 Gadt wgfy i R

4] z98 Sufes  faRear Om
ST B

Level-1/701

[

1. Which of the following has been

given a moral development theory ?
[1] Piaget

[2] Vygotsky

[3] Freud

[4] Bandura

Tertiary circular reactions develop
during :

[1] Sensory Motor Stage

[2] Preoperational Stage

[3] Concrete Operational Stage
[4] Formal Operational Stage

Which of the following statement is
not correct with reference to
development ?

[1] Itis continuous process.
[2] It is unidimensional.
[3] Itis cumulative in nature.

[4] There is individual differences in
development.
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[A] [4]

4. IobAOg A 4. Reversibility ability develops in the
g stage :
[1] El\ﬁ GichaTeHs ST [1] Concrete operational stage
(2] ‘E‘ RIERIRERe L [2] Preoperational stage
[3] MU= Giehardes STaeen [3] Formal operational stage
[4] HaAd TS ST [4] Sensory motor stage

5. 5. The concept of 'Law of Proximity'
AR I O has been given by whom ?
[1] g-er=e® g [1] Thorndike
PARIESICREUY [2] Pavlov
[3] R} =T [3] Skinner
[4] T & [4] Wertheimer

6. 6. The study of which of the following

lies at the intersection point of

T ? Psychology and Child development ?
[1] IS TR [1] Social Psychology
[2] SeNfes AfasTS [2] Industrial Psychology
[3] EeAHS AR [3] Organizational Psychology
[4] feepreTeTeh Afas [4] Developmental Psychology

1. Who was the founder of first
QT /Sfaaes & laboratory of Psychology ?
[1] fafem goe [1] William Wunt
[2] TeeR e [2] Alder Alfred
[3] foda@ =€ [3] Cyril Burt
[4] St I [4] Jean Piaget
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8.
T e 1 oTaee 787 © ?
[1] 3o dframcrs arawen
[2] d wfkarcTes areren
[3] J<maen
[4] TaSToTR MHS STae
9. ‘Fru® I30H/
g ® 7

[1] yd e @
[2] IR ST §
[3] qgemEen |
[4] fpsTRraeen &

10. U% S Fedl & [ ‘A% 29 @
7’ = 7 9
HYAT & 7
[1] TS
[2] e
[3] HHRICHERAT
[4] STHRIHR

H TeT e ?

[1]
I B

[2]
S SET|

[3] &8 TH THRIHD JTea o

(4]
& TG B
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[5]

8.

[©

11.
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[A]

Which of the following is not stage
of Piaget's Cognitive Development ?

[1] Concrete Operational Stage
[2] Preoperational Stage

[3] Latency Stage

[4] Sensory Motor Stage

'Imaginary Audience' is related to
which stage ?

[1] Early childhood stage
[2] Late childhood stage
[3] Adulthood

[4] Adolescence

A child says 'The moon is laughing'.
It indicates which of the following
characteristics ?

[1] Egocentrism
[2] Animism
[3] Positivism

[4] Negativism

Which
according to Operant Conditioning ?

statement is correct

[1] Negative reinforcement increases
desirable behaviour.

[2] Once a behaviour is learned, it is
not forgotten.

[3] Punishment 18 positive
reinforcement.
[4] Negative reinforcement

increases undesirable behaviour.

P.T.O.
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12. 12. Child apperception test propounded
fereptére fepar mr ? by whom ?
[1] [1] Bellak
[2] o¥ed [2] Thurston
[3] diHeE® [3] Thorndike
[4] Sffeard [4] Allport

13. I ARERen s e gfaafed 13. Who propounded achievement
fepar e ? motivation theory ?
[1] dFfmivs [1] McClelland
[2] Hrl [2] Maslow
[3] % e [3] Kurt Lewin
[4] &St [4] Herzberg

14. ’j’@?ﬁ - Y ARG B 14. The concept of Chaining is based

on:

[1] =™ Gﬂaﬂﬁ fHaid [1] Classical Conditioning Theory
[2] ﬁv'CITF{'{i?T \34@75[‘&17'[ fsid [2] Operant Conditioning Theory
[3] QI GsFHS REid W [3] Social Cognitive Theory
[4] Yo Tl e fHEia | [4] Trial and Error Theory

15. 15. Tridimension theory of intelligence
yfcraed fepam o B 7 is propounded by :
[1] gierE® [1] Thorndike
[2] Frws [2] Guilford
[3] THIEE [3] Sphearman
[4] QTQFT [4] Thurston

Level-1/701
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[1] [A]
16. 16. Which of the following is not a
TG TeT 8 ? schedule of reinforcement ?
[1] =X g9a [1] Variable ratio
[2] STFERem [2] Motivation
[3] R SR [3] Fixed interval
[4] ReR Srgum [4] Fixed ratio
117. 17. Insight - theory is given by whom ?
Y
[1] FFeRaEl &’ [1] Behaviourist
[2] TR g [2] Gestaltist
[3] GCEHMEE &’ [3] Structuralist
[4] YeMaEl &R [4] Functionalist
18. Y Gar fohd qd El'ﬂ”ﬁf q NSl g7 18. The emotion of fear is associated
with basic instinct :
[1] 9QrEs [2] T [1] Escape [2] Repulsion
[3] TEB [4] forsman [3] Combat [4] Curiosity
19. T 19. Which of the following is the correct
T & 78T G © ¢ formula to calculate I. Q. ?
[1] CA x100 [1] CA x100
[2] M'A'x100 [2] M'A'x100
[3] %xM.A. [3] %xM.A.
[4] m><M.A. [4] m><M.A.

Level-1/701 P.T.O.
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[A]
20.
% ATAR FEH SR HFA &I ©
[1] & & &
[2] 94 & &
[3] geq < &
[4] @99 o &

o A

21, feTacqfor U UK © ¢

[1] ST e &l
[2] AM¥E SO @l
[3] AR Hedl &
[4] AR STemeT &l

T & T N 7e S T S 7
[1] <

[2] fefene

3] @l &

[4] Y

23. fy=ifeq & @ @N-
e T T B 7

[1] gfaw

[2] EF=

[3] oTgsiE
[4] AR
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[8]
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20. According to the Bronfenbrenner's

Bioecological model, rules & laws
are examples of :

[1] Micro System
[2] Meso System
[3] Macro System
[4] Chrono System

21. Dyscalculia is a type of :

23.

[1] Locomotor Disability
[2] Mental Illness
[3] Mental Retardation

[4] Learning Disability

Which of the following may not act
as a Positive reinforcer ?

[1] A toffee
[2] A biscuit

[3] A bitter medicine

[4] Money
Which of the following is a
component of Observational
Learning ?

[1] Intelligence
[2] Retention
[3] Conditioning

[4] Personality
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24. TS ®EE W 9 R ¢
[1] "ot faewm e & kg
[2] AR e & e & g
[3] s foeere & e & R
[4] A o & R & g

25. 90-110 §f& fed JOR
gofl 1 QT B ?

[1] J&X &
[2] ol gfE

[3] 19 &
4] 79

26. f=ied & & HIF-81 Thiis gredny
I & R B FART H M © 7

NRIERIRS
[2] Hehd ST
[3] TR ®H
(4] 79 & PIg T

R 7

(1] sfefee siferm
[2] T SR
[3] &M e
[4] |rioTh STt
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[9]

24.

26.
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[A]

Sigmund Freud is known for :

[1] Social development theory

[2] Psycho sexual development theory
[3] Cognitive development theory
[4] Moral development theory
90-110 is range of 1. Q. represents
which category of intelligence ?

[1] Very superior

[2] Average

[3] Dull

[4] Fool

Which of the following technique is

used to teach Visually Impaired
Children ?

[1] PECS
[2] Sign Language
[3] Taylor Frame

[4] None of these

27. The research carried out on Bobo

Doll supports which theoretical view
of learning ?

[1] Insight learning
[2] Latent learning
[3] Place learning

[4] Social learning
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[A]

AT’ 7

[1] gd-Efeard st
2] Sgardl eae

[3] SR-igard! afeeer
[4] 519 q %13 &

‘HARFM AT U T GAYYH
fopas T foeam T ?

[1] X
[2] BT
3] &gema Feab
[4] Rrms wige

‘T qH B ITH T B Wi STHYOr
%l THIFS 3 FET B -

[1] g A
[2] sifey %/
[3] A g2

[4] ARew Aty

[10]

28. According to

GET IT ON
Google Play

Kohlberg, the
development of morality to avoid
punishment comes under which level ?

[1] Pre-conventional level
[2] Conventional level
[3] Post-conventional level

[4] None of these

The term 'Learning Disability' was
first coined by whom ?

[1] Kanner
[2] Down
[3] Samuel Kirk

[4] Sigmund Freud

30. 'The attraction of boy towards his

mother' was termed by Freud as :
[1] Electra Complex

[2] Oedipus Complex

[3] Moral Conflict

[4] Oral Complex

Level-1/701
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[A]

[T - II (PART - II)
A1 (B g SfISH) [LANGUAGES (HINDI & ENGLISH)]

& (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

31, =1 7 @ -9 9= g & ?
[1] smem
[2] @R

[3] geaa
[4] TEIRen

32. f5H fgheq H ‘HAY-3ge =
gat a1d-9g & °?

[1] 5@ — a&d

[2] ®AT — d&d
[3] 9T — A
[4] Ge&T — SATBIST

33. ‘qEHE = ¥ HA-A Gy 2 ?
[1] F°] @R €Y
[2] s G
[3] fereet &Yy
[4] emEfe @ gfy

34. 96t gt § @@t g g
[1] Hrem
[2] rfasaifa
[3] TRIgia
[4] TSR

Level-1/701

35.

T -4 frn oge g8 8 7
[1] & feban

[2] Geehiferh feha

[3] e foha

[4] SreHe o

36. 71 7 @ g a -4 B ?

[1] TEd Gﬁqi"ll 3TH! &A1l
[2] #Y @ TOd FF B & e B
[3] S=2 I HICHT Fal e
[4] A, G AR H T i

37. 79 ¥ 9 9= ¥ Suad 787

g7

[1] o
2] @B

3] i

4] FET

38, Fre § & B s oy 7@ %7

[ 2] @

[3] (E[l [4] (q)
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39. ‘S (FF) MW AP & U @@t

gﬁn;f :

[1] Fma=
[2] ga
[3] &R
[4] STeURe

40. ‘TYRAT q= T BT FT J9T © ?

[1] e
(2] &0
[3] =

[4] ST

41. ‘GoRE I ¥ HiF-97 TH ® ?

[1] ST

[2] IR
[3] HHEE

[4] &&

& AT AT B

[1] S = gy

[2] GeugEs T
[3] FHarEs hATaoT
ARG IECIEET

[12]
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43. ‘% @ R ‘@ 6w

g7

[1] &g
[2] TN
[3] SN
[4] T

44. ‘BT I B SGGT EI BT :

[1] =i
2] A
KIEZERIES
[4] fet

45. =1 § | BI-91 9% qE9G 7@ © ?

[1] g1
[2] &

[3] T
[4] ferawT

Level-1/701
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[13] [A]

3Nl (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

46. Synonym of ‘hate'is : 50. The young one of a bear is :
[1] docile [2] creep [1] calf [2] cub
[3] anger [4] dislike [3] fawn [4] foal

51. Fill in the blanks with the correct

47. Fill in the blanks with the correct
forms of the Verb :

prepositions :

The boy fell ......... the well ......... Xhinf - 'dyoﬁ‘) """""" with

10 O'clock. is knife yesterday ?
[1] do, did

[1] in, on [2] into, at
[2] do, do

[3] into, on [4] in, at [3] did, do

D [4] did, did
48. Harish himself wrote the poem.

The underlined words are : 52. The milk has turned sour.

[1] Noun, Pronoun The underlined word is :
[1] Noun

[2] Noun, Adjective

[2] Pronoun

[3] Noun, Adverb o
[3] Adjective

[4] Noun, Noun [4] Adverb

49. The superlative degree of 'Far'is: 53. Antonym of 'Cool'is :

[1] Farther [1] Cold
[2] Farthest [2] Colder
[3] Most far [3] Hot
[4] Most farther [4] Warmer

Level-1/701 P.T.O.
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Choose the correct spelling of the
given word :

[1] bungalowe
[2] bangalow
[3] bangelow

[4] bungalow

55. Choose the part of the sentence that

is incorrect :

a quiet good poet

B) ©

among the romantic poets
(D)

Keats is
(A)

[1] A 2] B

3] C [4] D

Choose the correct option to fill in
the blank :

Amartya Sen Guptais ......... N.R. L
[1] a [2] an
[3] the [4] %

She sang a 'sweet' song.
'sweet' here is :
[1] Adverb [2] Adjective

[3] Noun [4] Pronoun

[14]

GET IT ON
Google Play

One word for 'A child whose parents
are dead' 1s :

[1] Sibling
[2] Orphan
[3] Bigot

[4] Bastard

59. Choose the grammatically correct

sentence :

[1] John has been living in Egypt for

1942.

[2] John had lived in Egypt for

1942.

[3] John has been living in Egypt

since 1942.

[4] John have lived in Egypt since

1942.

Match the following :

(a) Ass (1) quack
(b) Duck (i) hum
(c) Fly (1i1) bray
(d) Bee (iv) buzz

[1] a-1, b-i1, c-111, d-1v
[2] a-ii1, b-1, c-11, d-1v
[3] a-iii, b-1, c-1v, d-ii

[4] a-i11, b-11, c-1v, d-1

Level-1/701
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[A]

AR - ITI (PART - III)
YW 31999 (GENERAL STUDIES)

B AT, e STRTEHar el 9 9 U4 1SN (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3% : =T 797 % ST @7 % [ @aQ SfEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

6L \6+646+... 00 T L :

[1] 3 2] 4
[3] 5 [4] 6
62. 4,000
ST H <X H® B, el W 5%
e Td 2 ¥ & qHT & ?
[1] 8.75 594
[2] 9.00 93
[3] 10.00 TT
[4] 11.25 599
63. gy 12 FEgetl 1 fahd g, 15 awgedt
2
[1] 20% [2] 25%
[3] 30% [4] 36%
64. 7ix 0% _of F q w
qM & BT 7
n = 2 >
3] 1 (4] 2

Level-1/701

[1] 3
[3] 5

(2] 4
[4] 6

62. What will be the difference between

compound and simple interest on a
sum of Rs. 4,000 for 2 years at the
rate of 5% per annum ?

[1] Rs. 8.75
[2] Rs.9.00
[3] Rs. 10.00
[4] Rs. 11.25

93. [f the selling price of 12 articles is

equal to the cost price of 15 articles,

then the profit percentage is :

[1] 20% [2] 25%
[3] 30% [4] 36%
64. If w =24, then what would

be the value of 'x' ?
3 3
[1] — 2] —

[3] 1 [4] 2
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[A]
65. T FHIT :

2 [2 2 {2 2 (2 2 3)}]
TEN B ¢

y 2

2] —

3] —

|

[4]

66. STHIT P TG IO :
[1] @@
[2] et
[3] hfear
[4] S99

61. UH FWE FH EEAT 5%

4410 &, @ 2

ot ?

[1] 3600 [2] 3800

[3] 4000 [4] 4200
68.

HIfoT ¢

KTE, SBM, AJU, IRC, ?

[1]1 QZL 2] QZM

[3] QZN [4] QZK

Level-1/701

[16]

65.

GET IT ON
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Simplify :

2 [2 2 {2 2 (2 2 3)}] is
equal to :

y 2

2] —

3] —

|

[4]

Find the odd one :
[1] Article
[2] Story
[3] Poem
[4] Novel

61. The population of a town increases

at the rate of 5% annually. If the
present population is 4410, what was
it 2 years ago ?
[1] 3600
[3] 4000

[2] 3800
[4] 4200

Find the next term of the following
letter series :

KTE, SBM, AJU, IRC, ?
[1] QZL [2] QZM

[3] QZN [4] QZK
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69.

HIfoT ¢
4,10, 23, 50, 105, ?
[1] 215
[2] 216
[3] 218
[4] 220
0. 3R P,Q& &N, R,PH ®lel, S, T

T AT Q
T B 8 7

[1] P 2] Q
[3] S [4] T

g 36
AR T & 7 g 6
=q a0 B AR ©

[1] 2500 & Hiex
[2] 2601 & Hiex
[3] 2809 & Hiex
[4] 2916 & Hiex

2. R A "= B, A nwE AN Y
[1] 8 [2] 10
[3] 6 [4] 12

Level-1/701

[17]

69.

GET IT ON
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[A]

Find the next term of the following
number series :

4, 10, 23, 50, 105, ?
[1] 215
[2] 216
[3] 218
[4] 220

10. If P is taller than Q, R is shorter than

P, S is taller than T but shorter than
Q, then who among them is the

tallest ?

[1] P 2] Q

[3] S [4] T

71. In order to fence a square fixed 36 poles

were used. If the distance between two
consecutive poles is 6 meters, then the
area of the square is :

[1] 2500 sq. m
[2] 2601 sq. m
[3] 2809 sq. m

[4] 2916 sq. m

12. If \/—" = , then the value of n is :

[1] 8 [2] 10
[3] 6 [4] 12
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[A]

13. 7]k uF g e 9w F,
'CERTAIN' @ 'XVIGZRM!'
'SEQUENCE' @& 'HVIJFVMXV'
ffrar Sar 8, @ 'MUNDANE!
HAH R AN for SR
[1] NFMWZMX
[2] NFMXZMV
[3] NFMWZMV

[4] NFMWZXM

14.
HIoT -
AZ, GT, MN, SH, ?
[1] YC [2] 2C
[3] ZB [4] YB
15. P

9

ARG FHET B Ga
FIPT

g% 6241 = 9, a1 3732 = 20
4523 SYER B

[1] 18

[2] 23

[3] 21

[4] 26

Level-1/701

[18]

13.

GET IT ON
Google Play

If in a certain Code Language,
'CERTAIN' is coded as 'XVIGZRM'
'SEQUENCE' is
'HVIFVMXV', then ' MUNDANE' is

coded as :

and coded as

[1] NFMWZMX
[2] NFMXZMV
[3] NFMWZMV
[4] NFMWZXM

Find the next term of the following
letter series :

AZ, GT, MN, SH, ?
[1] YC [2] ZC

[3] ZB [4] YB

15. Some equations are solved on the

basis of a certain system. On the
same basis, find the correct answer

for the unsolved problem :

If 6241 = 9, and 3732 = 20, then
4523 is equal to :

[1] 18

[2] 23

[3] 21

[4] 26


https://applink.adda247.com/d/XhqWf9lSap
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76. JE M

a1 HE R
[1]

2] M+2JM +1
3] M+2JM -1
[4] %+

77. A B WE § C @ D sfed §, A

80.

H YT D &H B 8, a B, C
TR e & ?
[1] Toar
[3] «g

[2] =m=
[4] =TT

FqRed HIfT ¢
i, arErisT

. &Y

.

1v. 9

[1] 1, 11, 1, 1V
[3] 1, 11, 11, 1V

[2] 1, 111, 1v, 1
[4] 1, 11, 111, 1V

- - ' % PHES §

[1] =x X

2] «x

[3] =x X

[4] x

R \/1+ (1—%J =1+

2401 7

N AE B

[1] 1 2] 3

[3]1 5 41 7

Level-1/701

[19]

GET IT ON
Google Play

[A]

If M is a square number, then the
next immediate square number is :
[1]

[2] M+2JVM +1

[3] M+2JM -1

41 Z+

11. A and B are brothers, C and D are

sisters, A's son is D's brother. How is
B related to C ?
[1] Father

[3] Brother

[2] Uncle
[4] Grandfather

Arrange the given words in a
meaningful sequence :

i. Phrase
. Letter
1i. Word

1v. Sentence

[1] 1,11, 1, 1v
[3] 1, 11, 11, 1v

19. The factors of

[1] =x X
2] «x
[3] «x X
[4] x

[2] 1, 111, 1v, 1
[4] 1, 11, 111, 1V

2
are

80. If \/1+ (1—ﬂj :1+$, then

2401
the value of  is:
[1] 1 2] 3
[31 5 [4] 7
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[A]

8l1.

eY

R @ T SE wE S
A feww’ oraRyd R

[1] e &

[2] ST H

[3] TR ¥
[4] itz |

T %9 B T & ?

[2] a§ 2017
[4] 992018 §

[1] 992015 &
[3] a9 2016 &

83. fr=ifeifad & § iA-

Reyg B 7

[1] Ga9a) Heled HiaX

[2] ferem #Hfex

[3] 3T=beaX WelRd Hiax

[4] dergEl HieX

BRI &% GO @M H IR H
AT FHe Bl Ufey :

(1)
S g9 B B

(i)

2|
7& HE F TIT BN :
[1] ®as B9 (i) T 2|
[2] Bad FI (i) T 2
[3] 7 () oIk T & (i) T B
[4] ()R (i) At @

Level-1/701

[20]

82. When

GET IT ON
Google Play

"Morni Hills" the highest ranges of
Haryana are situated in :

[1] Panchkula

[2] Ambala
[3] Yamunanagar
[4] Jind
Gurugram  Metropolitan
Development Authority was

established ?
[1] Year 2015
[3] Year 2016

[2] Year 2017
[4] Year 2018

83. Which of the following temples is

situated in Kaithal ?

[1] Sarveshwar Mahadev Temple
[2] Birla Temple

[3] Ambekeshwar Mahadev Temple
[4] Panchmukhi Temple

84. Read the following statements about

Haryana Public Service Commission :

(1) The Commission consists of one
Chairman and maximum eight
members.

(ii) The
members are appointed by the
Governor of Haryana.

Chairman and  other

Choose the correct code :

[1] Only statement (i) is true.
[2] Only statement (ii) is true.
[3] Neither (i) nor (ii) is true.
[4] Both (1) and (ii) are true.


https://applink.adda247.com/d/XhqWf9lSap
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85. 1857
gﬁ :
[1] U &
[2] Ta JARH
[3] &gEN
[4] gHAEE

86. ‘UNAR TeaM W JroHr
FTIRGT FIE A Ufed :

(1)
Rk
3TEY J9R A o @ B

(i) T A T Y
75§ e S

7& FE F TIT BN :

[1] ad 9 (i) T 2

[2] %ad FIF (i) T 2

[3] T (i) X T & (i) 9 B

[4] (i) R (i) 3 & &
81. &R

g ?

[1] &t = e ard

[2] 4t T= FehIaT

[3] 4 fas/ adw

[4] it sTafdiE fasds

Level-1/701

[21]

85.

87. Who is the

GET IT ON
Google Play

[A]

The hero of 1857, who died in
Kabul :

[1] Gopal Das
[2] Rao Tula Ram
[3] Sadruddin
[4] Hukam Chand

86. Read the following statements about

'Parivar Pehchan Patra Yojana':

(1) Under the scheme authentic and
reliable database of all the
families of Haryana is being
created.

(i1) All the existing schemes such as
various scholarships and
subsidies will be linked with
Parivar Pehchan Patra.

Choose the correct code :

[1] Only statement (i) is true.
[2] Only statement (ii) is true.
[3] Neither (i) nor (ii) is true.
[4] Both (1) and (ii) are true.
Chief Information
Commissioner of Haryana ?

[1] Shri Narendra Singh Yadav
[2] Shri Chandra Prakash

[3] Shri Vijai Vardhan

[4] Shri Jai Singh Bishnoi


https://applink.adda247.com/d/XhqWf9lSap
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[A] [22]
88. ERATT & TG YA NYH % & ? 88. Who is the State Election
Commissioner of Haryana ?
[1] ST ATt [1] Anurag Agrawal
[2] &99q T4 [2] Dhanpat Singh
[3] dlo THTeiHT [3] V. Umashankar
[4] Ffee area [4] Nitin Yadav
89. 89. On which occasion 'Khodia Dance' is
fopam ST ® 7 performed in Haryana ?
[1] B & gE W [1] On the occasion of Holi
[2] & & HTE W [2] On the occasion of Wedding
[3] TN & SEEX W [3] On the occasion of Teej
[4] T FeHl & HFTERX W [4] On the occasion of Goga Navami
90. H=g ‘3?1'5’ I B e B 90. Central Sheep Breeding Farm is
situated at :
[1] o7l § [1] Ambala
2] RER [2] Hisar
[3] 9Fga ¥ [3] Panipat
[4] @ | [4] Karnal

Level-1/701
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[23] [A]

9N - IV (PART - IV)
TR (MATHEMATICS)

3% : =i 797 % ST @7 % [ qaq SfEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

2
e 27 3=81, @ !
2

[1] 64 [2] 128
[3] 256 [4] 512

s2. W W M 30% TAN WeA F |

ST ¥ QU1 39 eIl &l A 140
g, A IS qE@ B 9E © ¢

[1] 110
[2] 50
[3] 60
[4] 90

2
91. If 27" 3 =81, then value of ¥

1S :

[1] 64 [2] 128

[3] 256 [4] 512

92. If 30% of a number is equal to % of

the second number and the sum of
these numbers is 140, then the value

of larger number is :

[1] 110
[2] 50
[3] 60
[4] 90

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A]

T T B T BT A D

[1] st
[2] Bl
[3] SRR

[4] <wen

= "ASSESSMENT"
9 fohae o= 99 9%ha € ?

[1] 21600
[2] 30240
[3] 151200

[4] 75600

[24]

93.

GET IT ON
Google Play

If two sides of a triangle are unequal,

then opposite angle of larger side is :

[1] greater

[2] small

[3] equal

[4] half

How many words can be formed

letters
"ASSESSMENT" ?

from the all

[1] 21600
[2] 30240
[3] 151200

[4] 75600

of word

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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95. T SHIAT B AT H FYIW | : 4
AR % ™ FAM 4 ¢ 5
¥ g, @ ST SR P OSTIIE ©

[1] 5:16
[2] 25:64
3] 3:4

[4] 64 :25
96. IR 7+¥x =43, A x TAT D :
[1] 27
[2] 729
[3] 512

[4] 216

[25]

GET IT ON
Google Play

[A]

1 : 4 and their diameters are in the
ratio 4 : 5 respectively, then ratio in

their heights is :
[1] 5:16

[2] 25: 64
3] 3:4

[4] 64:25

96. If 7+{/;:4, then value of x is :

[1] 27

[2] 729

[3] 512

[4] 216

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A]
97. fRel T & o1
QT 39T 450% & & 400%
gl o T2 M= 15
R
[1] 5/6 [2] 7/8
[3] 9/11 [4] 7/12

98. T% q7 F 1 vW, 50 Y & 25
% T A 7 : 8 ;12
31 AR AA F I & 560

9 & 25 W & oyl @ G B

[1] 120
[2] 240
[3] 480

[4] 360

[26]

91.

GET IT ON
Google Play

If numerator of a fraction is
increased by 450% and the
denominator is increased by 400%.

Now the new fraction is E The

original fraction is :
[1] 5/6 [2] 7/8

[3] 9/11 [4] 7/12

98. A bag contains coins of Rs. 1, 50 paisa

and 25 paisa in the ratio 7 : 8 : 12
respectively. If the total amount in the
bag is Rs. 560, then the number of 25

paisa coins in the bag is :
[1] 120
[2] 240
[3] 480

[4] 360

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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T q HH-91 FIT FF T 7

[1]
qregEdl WX STERT B &l

[2]
3R ot &9 2

(3] aggfs g
fasaera ©@ 39 B g

(4]
e 1 STehe™ el Bl 8l

100. U% 9 F 4 Hrll, 3 Few q&r 5

T & B %l AT ©

[1] 19/66 [2] 29/66
[3] 1/6 [4] 17/66

GET IT ON
Google Play

[A]

99. Which of the following statement is

correct about types of tests ?

[1] Essay type tests are based on

whole curriculum.

[2] Objective type tests are indefinite

and unlimited.

[3] Objective type tests are more

reliable and valid.

[4] Essay type tests can not assess

the thought expression.

A bag contains 4 blue, 3 black and 5
yellow balls. At random two balls
are drawn from the bag. The
probability that both drawn balls are

of same colour is :
[1] 19/66 [2] 29/66
[3] 1/6 [4] 17/66

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A]

01 B o B B @ oW B

ST 0T I A H I T

[1] 30 e
[2] 45 fe
[3] 60 fe
[4] 20 fe

3l 3@ URR
HIF-Q R 3B & g g B ?

[1] SHTHD
[2] Srasty
[3] STTEN
[4] Gl

[28]

GET IT ON
Google Play

101. The time taken by the minute hand
of a watch to describe an angle of

3 .
— radian, 18 :

[1] 30 minutes
[2] 45 minutes
[3] 60 minutes

[4] 20 minutes

102. A student will use his/her
Mathematical operations' knowledge
to calculate the total amount to be
paid to a vegetable seller. Which of
the following teaching objective is

used in this situation ?
[1] Knowledge

[2] Understanding
[3] Application

[4] Creativity

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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F 77 A & 7
[1] &
[2] Sregser
[3] eHaRed
[4] drieeh
104. = @it ®1 PrHETE &
(" = 6xy +9y") — 16
[1] (x—4) (x+4)
2] k=y-4 x-y+4

[3] x=3y+4)(x-3y—-4)

4] x+3y—-4)(x+3y+4)

[29]

GET IT ON
Google Play

[A]

103. Which of the following does not depict

the knowledge of mathematics ?
[1] Exactness

[2] Ambiguous

[3] Systematic

[4] Logical

Factors of the following expression
will be :

= 6xy +9y") - 16

[1] (x—4) (x+4)

2] c-y-dx-y+4)
[B] x=3y+4) (x-3y-4)

[4] x+3y—-4)(x+3y+4)

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A] [30]
105. W AR IgH! 33ﬁ CIGRE G 105. The ratio of present age of Ramesh
dgurd 8 ¢ 5 %, 8 and his daughter is 8 : 5, after 8 years
Y B U 3 ;2 ratio of their ages will be 3 : 2, then
CLEIE] SR T the present age of the daughter is :
[1] 40 oY [1] 40 years
[2] 64 T [2] 64 years
[3] 56 a9 [3] 56 years
[4] =9 &l HC Ezh;\'f, G:ﬁ?f@ i) [4] Insufficient data, cannot be
determined
106. 3R 10 ERﬁaﬁ CIRGER | qT 6 106. If selling price of 10 articles is equal
to cost price of 6 articles, then net
T B profit or loss is :
[1] 40% eI~ [1] 40% loss
[2] 20% eI [2] 20% loss
[3] 10% ™ [3] 10% profit
[4] T @9 X T & B [4] Neither profit nor loss

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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107. T X 9 20

ST B3R g8 30
| 9 oo, a 18

?

[1] 18 fet
[2] 12 ft
[3] 16 f
[4] 24 T

986 986 986 742 742 742

X + X + X
qH 2 :

[1] 1044
[2] 344
[3] 144
[4] 244

GET IT ON
Google Play

[A]

10Z. Ravi moving with constant speed of

20 km/h from his home, reaches
school on time. If he moves with 30
km/h, then reaches 18 minutes
before school time. Distance of

school from his home is :
[1] 18 km
[2] 12 km
[3] 16 km

[4] 24 km

Value of

086 986 986 742 742 742 -
X + X + X '

[1] 1044
[2] 344
[3] 144
[4] 244

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A] [32]

20 109. A can complete a particular task in

20 days whereas B can complete that
task in 10 days. Both worked
together for 4 days and then B leaves
the task, then how many days will A

fpeet e @t ? take to complete the remaining task ?
[1] 12 &9 [2] 4 &= [1] 12 days [2] 4 days
[3] 6 &= [4] 8 &= [3] 6 days [4] 8 days

110. 3R a b=a*+b*—ab, 110. If a b=a”+b* —ab, then value of
8+7-3%5 % AF T : 8+7-3%5is:
[1] 41 [2] 58 [1] 41 [2] 58
[3] 64 [4] 38 [3] 64 [4] 38

Number of diameters in a circle can

(=]
[
[
el
[

g be :
[1] 1 [2] 2 [1] 1 [2] 2
[3] 4 [4] o= [3] 4 [4] Infinite

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[33] [A]
112. 112. Which of the following is not a
e 78 ® 7 rational number ?
[1] 15/4 [1] 15/4
[2] 10/3 [2] 10/3
31 v 31 v
[4] 21/4 [4] 21/4
113. qaqM d T JET H STHEEr 12 113. Find the population of a city after
g, q% T8 4% P W F Foa ©, a 2 2 years which is at present 12 lakhs,
I HC| GO R IS B s te | I | I if the rate of increase is 4% :
[1] 12,92,970 [1] 12,92,970
[2] 12,97,920 [2] 12,97,920
[3] 12,02,990 [3] 12,02,990
[4] 12,20,990 [4] 12,20,990

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701 P.T.O.
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[A] [34]
114, & T Hl ﬁ]’s‘ 15 114. A wire is tied to the top of a pole
whose height is 15 meter and the

‘i&[ % | 60° wire makes an angle of 60° with the
P TE © ground. The length of the wire is :
[1] 30 HieX [1] 30 meter
[2] 2043 e [2] 2043 meter
3] 10V3 #Hex [3] 10v/3 meter
[4] 3043 X [4] 3043 meter

115. IR fFH €9 #H FHF e W W 2 115. If for a certain amount and same interest
Y H ERY & 600 rate the simple interest is Rs. 600 and
TG S 612 compound interest 1S Rs. 612 of two
e & B : years, then annual rate of interest is :
[1] 3% [1] 3%
[2] 6% [2] 6%
[3] 4% [3] 4%
[4] 8% [4] 8%

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[
ol

B ©

[1] 1200° [2] 1050°

[3] 720° [4] 900°
117. I 3+ + , (x + 3)

freforT &, @ k & A ©

[1] 5 [2] 4

[3] -5 [4] 3

[
ol

8 S, 2007 & HiA-41 fa o ?

EURELR
2] geER
[3] FEEAfEr
[4] geharX

[35]

GET IT ON
Google Play

[A]

116. Sum of the interior angles of a

el

regular heptagon is :

[1] 1200° [2] 1050°
[3] 720° [4] 900°
If °+ + is completely divisible

by (x + 3), then value of k is :
[11 5 2] 4

[3] =5 [4] 3

118. Which was the day on 8 June, 2007 ?

[1] Saturday
[2] Wednesday
[3] Thursday

[4] Friday

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A] [36]

119. 3IE TH §edA 119. If mean and mode of a distribution
74 AT 29 §, @ s i wiieHw @ are 74 and 29 respectively, then

median of the distribution is :

[1] 49 [1] 49
[2] 59 [2] 59
[3] 62 [3] 62
[4] 63 [4] 63

120. UTh HHAH E@ﬁ 120. The area of a trapezium, whose
FHIX ‘ﬁ?ITi HAT: 22 W AN 27 parallel sides are 22 cm and 27 cm
af ? respectively and the distance
10 99 &, & : between parallel sides is 10 cm, is :
[1] 152 o & [1] 152 sq. cm
[2] 245 T GH [2] 245 sq. cm
[3] 490 T & [3] 490 sq. cm
[4] 560 & | [4] 560 sq. cm

% & % [ € (SPACE FOR ROUGH WORK)

Level-1/701
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[A]

R - V (PART - V)
YqIaR ST (ENVIRONMENTAL STUDIES)
@9 : =i 77 % G @7 % [T @aq ST Ay g

Direction : Answer the following questions by selecting the most appropriate option.

121, fEed (YEI99) wiieds @l

it
[1] 3 Sg-
g

[2]
2

[3] 3 Sia-fogeig @ & 9 2 R
[4]

Hg STER | 9 1 THAd & ?
(i) @ ok

eIl T T BT
(i) 3G o1

BT, T THU ST
(i)zam g T & aft omasTs

L2611

(iv) 3T 3T
3] T Y G q@ &

e Y R R & MR W ga)
H T BN

[1] (i) T (i)

[2] (i), (i) @& (iii)
[3] (i) @& (iii)

[4] @), @), (i) (1v)

Level-1/701

121. Disposable plastic plates and glasses

should not be used because :

[1] They are made of non-
biodegradable materials.

[2] They are made of materials with
light weight.

[3] They are made of biodegradable
materials.

[4] They are made of toxic materials.

What do you mean by balanced diet ?

(1) It means choosing a wide variety
of food and drinks from all food

groups.

(i1) It means eating certain things in
small amounts such as saturated
fat, cholesterol, simple sugar etc.

(i11) It means to take all nutrients
which are needed as per the
required level.

(iv) It means long time dieting to
attain balance.

Choose the correct answer using the
codes given below :

[1] () and (i)

2] (), (ii) and (iii)

[3] (ii) and (iii)

[4] (), (ii), (iii) and (iv)
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[A] [38]
123. 123. Choose the right group from the
i Rred sHarew 249 7&f @ following which has no fossil fuel :
[1] &, el T g4 [1] Wind, tide and sun
[2] &1, WeX TF Shigar [2] Wind, tide and coal
[3] ﬁ-;ja, Flzb_eﬁ g QCT [3] Petroleum, wood and sun
[4] [4] Wind, CNG and sun
124, I=dH Ao ear & fafeheor ® 124. Radiation with maximum penetration
power is :
[1] STavad T [1] Infrared radiation
[2] y-Feeet [2] y-rays
[3] TS q [3] Ultraviolet radiation
4] X- [4] X-rays
125. 125. Which one of the following is an
TiRRefeedt = ® ? artificial ecosystem ?
[1] ST [2] 3 [1] Forest [2] Lake
[3] (4] [3] Aquarium  [4] Pond

When air is blown from mouth into a
test tube containing lime water, the
lime water turns milky. The

ot
DN
ot
N
[=2]

Rerf 2 milkiness is indicator of the presence
Tt T X B of which gas ?
(1] H@ﬁ? [1] Nitrogen
2] SR (2] Oxygen
[3] St arsq [3] Water vapour
[4] [4] Carbon dioxide
127. 791 § § R-91 T Ay 69 787 127. Which one of the following is not a
g7 fossil fuel ?
[1] g=difeq EI'IEEﬁI?E Rk (?ﬁ U Gﬁ) [1] Compressed Natural Gas (CNG)
[2] TS eEZH (T TH) [2] Liquid Hydrogen (LH)
[3] dfclt TRl e (§ § &) [3] Poly Ethylene Terthalate (PET)
[4] [4] Liquified Petroleum Gas (LPG)

Level-1/701
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128.
W
[1] STt 2] a
[3] (4]
129.
SA¥FeTEfE T § 7
[1] &g
[2] S
[3] sAfagey
[4]
130.
gl Mars § Reg 8 7
[1] g0 [2] sfrelt emfe
[3] (4]
131. FHieH-1
AR HeH-11 7§ B @ & § ¢ ¢
I I
(a) RIS (i) T S
(b) TeaE FX (i) fhvam
(c) 3 WER (i) AR
(d) & =T (iv) A=H & Sl
gef e B

[1] (a)-iii, (b)-1v, (c)-ii, (d)-1
[2] (a)-1, (b)-iii, (c)-ii, (d)-iv
[3] (a)-iii, (b)-ii, (c)-1v, (d)-1
[4] (a)-iii, (b)-1v, (¢)-1, (d)-1i

Level-1/701
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=
N

=
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[
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[A]

When white light passes through a
prism the colour which bends the
least is :

[1] Indigo
[3] Violet

[2] Red
[4] Orange

Spiny leaves are the characteristics
of which type of plants ?

[1] Terrestrial
[2] Aquatic

[3] Epiphytic
[4] Xerophytic

Which of the following continent
lies only in Southern Hemisphere ?

[2] South America
[4] Australia

[1] Europe
[3] Africa

In Column-I, names of scientists are

given and in Column-II, some
discoveries are given :
Column-I Column-II
(a) Alexander (i) Anthrax
Fleming Bacterium
(b) Edward Jenner (ii) Fermentation
(c¢) Louis Pasteur (iii) Penicillin
(d) Robert Koch  (iv) Smallpox

Vaccine

The correct match of the names of
scientists with their discoveries is :

[1] (a)-iii, (b)-1v, (c)-ii, (d)-1
[2] (a)-1, (b)-iii, (¢)-ii, (d)-1v
[3] (a)-iii, (b)-ii, (c)-1v, (d)-1
[4] (a)-iii, (b)-1v, (¢)-1, (d)-11
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[A]

T AR @R SEr # 9eE @ e 7
[1] =16, TNy, |, )

[2] <&, AE, A, fogeT

[3] &, g, 90, fey

[4] Tew, |Y, 3@, T, feger

[
w

R 7

[1] fewefifean
[2] feeT|
[3] BUerEfeq
[4] =t

bt
I8

FH TEAM HIoTY -

() & QRAvSd & TEU 9
TE 3

(i) T IR SR T% H T4 ol
(iii) 3 HEE ST IWE AZeA o
[1] g7 (%%4)

[2] 9 (&)

[3] gewfr (I

[4] " (W)
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=
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=
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Which group of organisms is not the

constituent of a particular food chain ?
[1] Grass, rabbit, wolf, lion

[2] Plankton, man, fish, grasshopper
[3] Grass, antelope, tiger, vulture

[4] Frog,
grasshopper

snake, eagle, grass,

Which of the following is a water

borne disease ?

[1] Diphtheria

[2] Tetanus

[3] Hepatitis

[4] Cough

Based on the following three facts
identify the planet :

(1) It 1s the second largest planet of

the solar system.
(11) It has ice ring around it.

(ii1) Its largest satellite is Titan.
[1] Mercury

[2] Saturn

[3] Jupiter

[4] Mars
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135.

Frfofead Qs (Fiew-1)
qed Wiq (iew-1I)

ud e R W R A A ge
T FHIT

-1 SHieH-11
(A ) (¥a)
(a) FEEEZE (i) &0 TER sl
(b) HfETH (i) o
() WA (iii) 3
d) AR () T
&< -

[1] ()-iv, (b)-iii, (¢)-ii, (d)-i
[2] (@)-i, (b)-iii, (c)-ii, (d)-iv
[3] (a)-ii, (b)-iii, (¢)-i, (d)-iv
[4] (a)-iv, (b)-iii, (¢)-i, (d)-ii

T Fef H | Gl e H AT HIT

(a) (i) 20 60

(b) (i) 60 120

(c) wemvsd (i) Y=l @ e |
20

(d) (iv) 120 600

%c -

[1] (a)-iii, (b)-ii, (¢)-i, (d)-iv
[2] (a)-iii, (b)-i, (¢)-ii, (d)-iv
[3] (a)-iv, (b)-i, (¢)-ii, (d)-iii
[4] (a)-i, (b)-il, (¢)-iii, (d)-iv

Level-1/701

[41]

GET IT ON
Google Play

[A]

135. Match the following nutrients (Column-I)
with their main sources (Column-II) and
find out the correct answer using the

codes given below :

Column-I Column-II
(Nutrients) (Sources)
(a) Carbohydrate (i)
vegetables

(b) Calcium (i1) Pulses

(c) Protein (i11) Milk
(d) Iron (iv) Wheat
Codes :

[1] (a)-iv, (b)-iii, (c)-ii, (d)-i
[2] (a)-, (b)-ii, (c)-ii, (d)-iv
[3] (a)-ii, (b)-iii, (¢)-i, (d)-iv
[4] (a)-iv, (b)-iii, (¢)-i, (d)-ii

Match the various layers of atmosphere
with their approximate distance and

choose the correct code given below :

(a) Troposphere
(b) Stratosphere

(c) Mesosphere  (iii)

(i) 20to 60 km
(i) 60 to 120 km

earth surface

(d) Thermosphere (iv) 120 to 600 km

Codes :

[1] (a)-iii, (b)-ii, (c)-i, (d)-iv
[2] (a)-iii, (b)-i, (¢)-ii, (d)-iv
[3] (a)-iv, (b)-i, (¢)-ii, (d)-iii
[4] (a)-i, (b)-ii, (¢)-iii, (d)-iv
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137. -1 ¥ [T ™ TERER R
HiaH-11

I B TEEd § FE
HINTT -

(a) @

(b) =X Red (i)
a1 3 20 29

(c) R &l @S (iii) AHATE,
B &

(d) =1 3t Rerd (iv) afdem s

%< -

[1] (a)-iv, (b)-iii, (c)-i, (d)-ii
[2] (a)-iv, (b)-i, (c)-i, (d)-iii
[3] (a)-iii, (b)-iv, (c)-ii, (d)-i
[4] (a)-iii, (b)-ii, (¢)-iv, (d)-i

U () oFured e ?

T — U (T) — 9|
[1] = & F6fte | gfs 8 ST
[2] 9 & FHe | FH & S
[3] &9 9 @M T S

[4]
% THRkE qE SR

Level-1/701

[42]

GET IT ON
Google Play

137. Match the Biosphere reserves given in
Column-I with the geographical
location in Column-II and choose the
correct answer using the codes given
below :

Column-I Column-II
(a) Nilgiri Reserve (i) Uttarakhand

(b) Sunderban
Reserve

(i1)
Tamil Nadu

(¢) Gulf of Mannar (iii)

Nadu,
Kerala
(d) (iv) West Bengal
Reserve
Codes :

[1] (a)-iv, (b)-iii, (c)-i, (d)-ii
[2] (a)-iv, (b)-i, (c)-ii, (d)-iii
[3] (a)-iii, (b)-iv, (c)-ii, (d)-i
[4] (a)-iii, (b)-ii, (c)-iv, (d)-i
138. What will happen if Antelope is missing
in the food chain given below ?
Grass — Antelope — Tiger
[1] The population of tiger increases.
[2] The population of grass decreases.
[3] Tiger will start eating grass.

[4] The  population of  tiger
decreases and the population of
grass increases.
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139. il (iem-I)
(#f@w-11) & g
4 ™ I q @&
FIA
PiaA-1 HiaH-11
(ffr) ()
(@ 2 ®Ed () e i Read
(b) 21 7= (i) fasg oM 9 Rew
() 5 (iii) A Frod g
@ 2 RE=R  (iv) fasg st Rag
%e -
[1] (a)-ii, (b)-1, (c)-1v, (d)-iii
[2] (a)-ii, (b)-1, (c)-iii, (d)-iv
[3] (a)-ii, (b)-iv, ()i, (d)-iii
[4] (a)-1, (b)-ii, (c)-1v, (d)-1ii
140. f=iioiiad a1 HiaHl & @8t
I BT -
HHl AT
(@ f@ft| A @) Har (TEs)
AT

(b) EA & I (i) @

(c) dfceaaw & FHH (i) &
HHA

(d) SMASH & FHI (iv) TR
[1] (a)-ii, (b)-iv, (c)-iii, (d)-i
[2] (a)-ii, (b)-iv, (c)-i, (d)-iii
[3] (a)-iv, (b)-ii, (c)-iii, (d)-i
[4] (a)-i, (b)-ii, (c)-iii, (d)-iv

Level-1/701
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[A]

Match the dates (Column-I)
(Column-II) and choose the correct
answer using the codes given below :

Column-I Column-II

(Dates) (Days)
(a) 2 February (i) World Forestry Day
(b) 21 March (i) World Wetland Day
(¢) 5June (iii) Bhopal Tragedy Day
(d) 2 December (iv)

Day

Codes :

[1] (a)-ii, (b)-i, (¢)-iv, (d)-iii
[2] (a)-ii, (b)-i, (¢)-iii, (d)-iv
[3] (a)-ii, (b)-iv, (c)-i, (d)-ii
[4] (a)-i, (b)-ii, (¢)-iv, (d)-ii

Find out the correct combination of
following two columns :

Deficiency Disease
(a) (1) Goiter
Vitamin A
(b) Lack of Iron  (ii) Night
blindness
(c) (i11) Weakness
Calcium of Bones

(d) Lack of Iodine (iv) Anaemia
[1] (a)-ii, (b)-iv, (c)-iii, (d)-i
[2] (a)-ii, (b)-iv, (c)-i, (d)-iii
[3] (a)-iv, (b)-ii, (c)-iii, (d)-i
[4] (a)-i, (b)-ii, (c)-iii, (d)-iv
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141. HaH-1
TSl @l diew-11

%l Pl WA A 7E
HIRTT -
Fiem-11

(i) CO,, SO, T N,O
& I

(b) (i1)
HYE & G A

(c) oT=g at  (iii) CFC

TR
(d) Sa-ffagar  @Gv)
T HTFES
e R
% -
[1] (a)-iv, (b)-i, (c)-iii, (d)-ii
[2] (a)-iii, (b)-i, (¢)-ii, (d)-iv
[3] (a)-iii, (b)-iv, (¢)-i, (d)-ii
[4] (a)-iii, (b)-i, (c)-iv, (d)-ii

TS @R & T H UgE H S o

N T A © ¢
[1] SRS
PARIERE]

3] e

[4]

Level-1/701
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Match the Global
problems given in Column-I with their

Environmental

causes given in Column-II and choose
the correct answer using the codes

given below :
Column-I Column-II
(a) (1)
depletion CO,, SO,
N>O
(b) (i1)
effect Flora and Fauna
(¢) Acid Rain (ii1)
chlorinated
compounds
(d) Loss @iv)
Biodiversity
Sulphur oxides
Codes :

[1] (a)-1v, (b)-1, (¢)-iii, (d)-ii
[2] (a)-iii, (b)-1, (¢)-ii, (d)-iv
[3] (a)-iii, (b)-iv, (¢)-1, (d)-ii
[4] (a)-iii, (b)-1, (¢)-1v, (d)-ii
Bone is used as a fertilizer because it

contains the following plant
nutrient :

[1] Oxygen
[2] Sodium
[3] Carbon
[4] Phosphorus
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[45] [A]
143. 143. Which of the following ocean lies to the
West of Australia and East of Africa ?
¥ feorr 2 7
[1] 9= HeTdarR [1] Pacific Ocean
[2] & WeErR [2] Indian Ocean
[3] STediiesh HeM@NY [3] Atlantic Ocean
[4] [4] Southern Ocean
144. qrF qgHI ® EI'IEEI%I?E 99 g ¢ 144. Natural sources of air pollution are :
(a) WI’{I@ faehie (a) Volcanic eruption
(b) ST I ST (b) Forest fire
(c) I &l faged (c) Decay of vegetation
(d) SRS Ma™ (d) Automobile exhausts
SICERECEE O] '@"f 49 waie @el Select the most correct answer using
I B I HITT ¢ the codes given below :
[1] (a) T (b) [1] (a) and (b)
[2] (a) T (d) [2] (a) and (d)
[3] (a), (b) T (c) [3] (a), (b) and (c)
[4] (@), ()  (d) [4] (a), (b) and (d)
145. TR T 78] T S & ¢ 145. Tartaric acid is not found in :
[1] =g & [1] Lemon
[2] Sifaar & [2] Amla
[3] = oW o [3] Unripe mangoes
[4] [4] Grapes
146. FHEag § 4@ H-AT G- 146. Which of the following is a
TEE © ! biodegradable polymer ?
[1] Ui [1] Polythene
[2] AEAE-6 [2] Nylon-6
RIRIGREEIESIESIRES [3] Polyvinyl Chloride
[4] [4] Cellulose

Level-1/701 P.T.O.
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147. JIgEvesq H R Wl (SeE-1)
S T (He-10) & gafe i
W A R W™ R d ga
?fnzr FIT
FiH-1 PiH-11
(argeoe b (wrett & oren)
)
(a) #vmoed (1) ofee @ SuRefa
(b) F9AUETSH (i) R d©d Tl
¥
(c) weesd (i)
UV w@ X
AN BT B
(d) (iv)
TR T B &
% -
[1] (a)-ii, (b)-i, (c)-iii, (d)-iv
[2] (a)-i, (b)-ii, (c)-iii, (d)-iv
[3] (a)-ii, (b)-i, (¢)-iv, (d)-iii
[4] (a)-ii, (b)-iv, (¢)-i, (d)-iii
148. F=ifafad § 9 SO,
I GIH -9l & ?
[1] STEIHEE [2] EHES
[3] (4]
149.
BT TRy ?
[1] T [2] F
[3] (4]
150.
ST Wewayel R T F ©

[1] AeTHved, UaTIHvSH
[2] &9Usd, 9AIqoSd

[46]

1417.

=
]

149.

=
gl

GET IT ON
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Match the various layers of atmosphere
(Column-I)

(Column-II) and select the correct
answer from the codes given below :

Column-I Column-II
(Layers (Characteristics
Atmosphere) of Layers)
(a) Troposphere (i) Ozone is present
(b) Stratosphere (i) all clouds form
here
(c) Mesosphere (ii1)
and X-
absorbed here
(d) Thermosphere (iv)

in this region
Codes :
[1] (a)-ii, (b)-1, (c)-iii, (d)-iv
[2] (a)-i, (b)-ii, (c)-iii, (d)-iv
[3] (a)-ii, (b)-1, (c)-iv, (d)-iii
[4] (a)-i1, (b)-iv, (¢)-1, (d)-iii

Which of the following is the best
indicator of SO, pollution ?

[2] Pteridophyte
[4] Algae

[1] Bryophyte
[3] Lichen
Which of the following element

should be available in water for
metamorphosis of tadpoles ?

[1] Sulphur [2] Chlorine
[3] Iodine [4] Carbon

Name the regions of the atmosphere
where oxygen and ozone play key role :

[1] Mesosphere, Stratosphere
[2] Troposphere, Stratosphere
[3] Ionosphere, Mesosphere

[4] Exosphere, Thermosphere

Level-1/701
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. NI Ti?l'ﬁﬂ T 8, o 6 e R @ R ' given by darkening complete circle using Black ball
point pen as shown below :

O @@ ® ® O @ ® O

The answer will be treated wrong;, if it is marked, as given
H P gR & e ¥ bolow 9 g
oO® @ @ O®® ®
g If you fill more than one circle it will be treated as a
ST wrong answer.

1. 6 FE F-JRaH d 39 JEeE & U & W Rl e WA w4 (

provided in the Question Booklet for the same.)

8. @l I Fa OMR
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. W

(white fluid) is not allowed for changing answers.)

9. T% U & ot Ru 7w R fasedi § 9 SRud fogew & T OMR ST) 056
¥ W & IR W Sfhd F P 9% SH gaa & S Gl 81 (Out of the fou

Sheet. The answer once marked is not allowed to be changed.)

10. 7=l GARET HT % 30 IR TF B AST 7 A T I§ W B A B
i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not fol
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the speci
Answer Sheet.)

11. 957-GRH T I T FH AMGES T H, Fih HE G RREfT F (9eT-gRawm @ SR = & ww § e
F BiaR) A U JRaw §C JuMe TE FA® T (Handle the Question
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. HQ‘[—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. ot @ qdien Sfd/d ¥ 19 0 IR UeEN WA & SifaRe e UER @ ued-
ToR, AR 6, SR SUHT A Rl o TR H AN A QA N AT ST FA B SFGAC T 8l (
not allowed to carry any textual material
any other material except the Admit Card and Identity Card inside the examination hall/room.)

14. TREE 3 I8 TN W T0E ¥l ST sasr FE (A Fo) ofX weaN wH f@m (

his/her Admit Card (Roll No.) and identity card to the Invigilator.)
15. &= e a1 Haes @ A9 Gﬂqﬁf % o Eb:l"és STl oTae WM A BiE| (No candidate, without special permission

the Superintendent or Invigilator, should leave his/her seat.)

16. FEXT FE® B AT IR T (U B 0 swnr =l wAE
HAREl T g IR BEEE A WK TE %
Al AT STCT OMR SR O #f FeiiRa @M W ot ol e ot e & of e & e T St Rl
e @ T 9 99 # SEF @ S R |
A HIl (
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified
should be properly inked i.e. they should not be either over inked or dried in nature.)

11. (Use of Electronic/Manual Calculator is prohibited.)

18. G B H SR & i, orvaedl fefrem # & v e/ Ry
et 3 ol a1 dea a8 3 fremt w Rfed @ SINGIN g (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

19. el B & 9eT-gRE oI IR T W PiE A ST T HX (No part of the Question
be detached under any circumstances.)

zo.qﬁwmﬂwgéﬁw,m%ﬁm/aﬁa@sﬁﬁlﬁwww—qﬁ%%aﬁmwﬁq% A oo WY 3 AeA-
ST I (

Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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